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. i s of protein. Two foude o000
g g ‘ 1w 500 units of fat 300 units of pre . ; %
Cl A diet is 10 contain at level 400 units of carbohydrate 20% fF, contain 10, 20. 15 units afys v e

; : ; Hable. A units of £ M3 i £ Sy -

and T'; which cost R, 12 and Rs. 24 per unit are available. \ un‘t_’ 4 F» are 23, 10, 20 units 1O MINIMIZE 15y,
Carbohydrate, fat, protein respectively and respective contain of food £ : _
cost of diet. (08)

7 (0 .
DiMaximize Z=]0x - Sy '
X+y<5
2x+y<0
x20,y=0
Solve using graphical method
, : .+ when it compounded. (08)
Q.3.A] Find compound Interest of the sum of Rs. 50,000 at 12% p.a. when it comp 7 Vi
1. Half yearly | : ‘q
2. Yearly ' “l
3. Quarterly :

B) A Company intend to créate sinking fund to replace 20 year asset costing R 300,000 calenline e

amount to be retain every yearif the rate of Interest is at 5%. 5 &
OR 13
C] Prepare Loan repayment table of Loan of Rs. 1000 to be paid in 5 year@15% p.a. (15;. i

Q4.4 Draw a project network for the following project. ®

_Activity | Immediate Predecessors |

x : :

BT f 0
D B

E AB

F C.D

G F

H E.G

I F

B] The following information available in fespect of Jessica Ltd and Jennifer Ltd.

on’
Jessica Ltd Jessicaltd %
Return | Probability | Return | Probability
250 103 150 104
200 105 T 130 105
1100 - 02 60 0.1




‘t;},"’-bﬁ“"f"f_"_t‘:-ﬁ’:a P IRMIG LI Bk

e N 0
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OR
€] From the following information calculate. Beta of a security. _ ; ey
. Year | Return son security (%0) Return on market portfolio (%) |
oA 10 | 42 S
R 10 |
it 13- 10
4 | 10 ' v 12
3 -8 , 15
L6 11 : 14
L7 46 - 20
8 12 ¢ e 15 |
b 2615 18 ' - 20 ' l
| 10 | 20 L i
s ]wmc notes on. (Anv 3) : - s e - : - b ST - (1-,3)_4

Errors in dcc;sxon of Testmg of h) pothesis.
Critical path mct}md :
Total float

1.
2.
"
4. Risk Analysis
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